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QUESTION 1

A customer has a hybrid VMware SD-WAN deployment and wants to use the SD-WAN Service Reachable 

feature on the private WAN. 

What is the main dependency that must be met for the feature to work? 

A. Internet reachability via the private WAN 

B. Gateway IPs must be routed in the overlay 

C. Default route learned via dynamic routing 

D. Static mute for gateway IPs on the edge 

Correct Answer: C 

 

QUESTION 2

Which form factor can a customer use to deploy VMware SD WAN Edge? 

A. Oracle Virtual Box 

B. Open Virtualization Appliance 

C. Docker Container 

D. Hyper-V Virtual Machine 

Correct Answer: B 

 

QUESTION 3

An Enterprise customer just acquired a new company, and the Network Enterprise administrator was tasked to integrate
over 20 new branches into their existing SD-WAN network. However, these branches have overlapping IPs with the
existing branches subnets. 

A. Configure a NAT hand off rule at the VMware SD WAN gateway assigned to these new blanches, translating the new
branch subnets into a new nan-overlapping subnet 

B. Configure a LAN-side NAT rule at the branch device settings, translating its subnets into a new non-overlapping
subnet 

C. Configure a NAT firewall rule in each branch, translating its subnets into a new non-overlapping subnet 

D. Configure a policy based NAT tor each branch translating its subnets Into a new non-overlapping subnet 

Correct Answer: B 
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QUESTION 4

Employees with an Apple iOS device have been causing congestion on the company\\'s internet What should an
administrator configure to target these devices when creating a Business policy for this issue? 

A. Action Priority 

B. Action Network Service 

C. Match Source 

D. Match Destination 

Correct Answer: A 

 

QUESTION 5

Which VMware SD-WAN component Is responsible for overlay route distribution? 

A. VMware SD-WAN Controller 

B. VMware SD-WAN Orchestrator 

C. VMware SD-WAN Edge 

D. VMware SD-WAN Hub 

Correct Answer: A 
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